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BOTANY — GENERAL
Paper : GE/CC-4
(Plant Physiology and Metabolism)
Full Marks : 50

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]

The figures in the margin indicate full marks.

1. Answer any five questions : 245
(a) What is transpiration? Name an anti-transpirant.
(b) What is ‘Red Drop’? What is Emerson enhancement?
(c) What do you mean by Prosthetic group of an enzyme?
(d) What is Ribozyme? Write the function of it.
(¢) Why Krebs cycle is known as Amphibolic Pathway?
(f) What is Leg-haemoglobin?
(g) What do you mean by photoperiodism?
(h) What is Richmond and Lang effect?

2. Answer any two questions from the following : 5x2
(a) Discuss the modern concept of opening and closing of stomata.
(b) Describe the physiological role of auxin.

(c) Write a short note on senescence.

3. Answer any three of the following :

(a) Write the DNA structure according to Watson and Crick model. What is Chargaff’s rule? Write
the difference between m-RNA and t-RNA. 6+2+2

(b) Describe the CAM pathway with suitable diagram. What is Kranz anatomy? 8+2

(c) Schematically represent the process of glycolysis. Write the difference between photophosphorylation

and oxidative phosphorylation. 743

(d) Write down the bio-chemical process of nitrogen fixation. Mention the scientific name of two
leguminous plant and their nitrogen fixing bacteria. 6+2+2

(e) Discuss the role of Gibberellins in seed germination. Discuss the role of Abscisic acid in water
stress and stomatal closure. 6+2+2



